
Copyright © 2015 JJ Electronics LLC Page 1 
 

JJ Electronics LLC   

532 Control Board Build sheet/BOM 
 

 

1. Before disassembly, make sure the unit is unplugged and PSU caps have been drained. 
2. Remove the front panel assembly. 
3. Disassemble front panel and unsolder all the original slide pots. 
4. Lay the JJE 532 control board on top of the UREI 532 control board and line up the JP1 mounting 
holes. Once lined up, mark the locations of the JJE 532 pcb onto the original 532 pcb 
5. Check to make sure that the holes line up properly.  Drill the locations on the original control pcb 
control board out to ¼”. 
6. Traces on the original control pcb might need to be trimmed to keep from coming in contact with the 
mounting hardware.  

 



Copyright © 2015 JJ Electronics LLC Page 2 
 

 

 
7.Cut sections of hookup wire (about 1.5" long)  
8. Install hook up wire or extension posts into the bottom (non- silkscreen) of the JJE 532 control 
board. Be careful not to add too much solder. Doing so will cause the slide pots to seat 
incorrectly. 
9. Install slide pots into JJE 532 control board. 
10. Solder the wires connected to JP1 onto their respective locations on the original control board. 
11. Install spacers and screws to mount the JJE 532 control board to the original control board. 
Test fit the assembly and adjust as necessary. 



Copyright © 2015 JJ Electronics LLC Page 3 
 



Copyright © 2015 JJ Electronics LLC Page 4 
 



Copyright © 2015 JJ Electronics LLC Page 5 
 

 

12. Install the control board assembly and reassemble the 532.

 



Copyright © 2015 JJ Electronics LLC Page 6 
 

 

Bill of Materials 

 

Name 

 

Qty. 

 

Part Number & Manufacturer 

 

Value 

 

 

R1 1 PTA4543 -2215DP -B202 or  

PTA4543 -2015DP -B202 / Bourns  
2K 45mm Slide 

Potentiometer 

R2 1 PTA4543 -2215DP -B202 or  

PTA4543 -2015DP -B202/Bourns  
2K 45mm Slide 

Potentiometer 

R3 1 PTA4543 -2215DP -B202 or  

PTA4543 -2015DP -B202/Bourns  
2K 45mm Slide 

Potentiometer 

R4 1 PTA4543 -2215DP -B202 or  

PTA4543 -2015DP -B202/Bourns  
2K 45mm Slide 

Potentiometer 

R5 1 PTA4543 -2215DP -B202 or  

PTA4543 -2015DP -B202/Bourns  
2K 45mm Slide 

Potentiometer 

R6 1 PTA4543 -2215DP -B202 or  

PTA4543 -2015DP -B202/Bourns  
2K 45mm Slide 

Potentiometer 

R7 1 PTA4543 -2215DP -B202 or  

PTA4543 -2015DP -B202/Bourns  
2K 45mm Slide 

Potentiometer 

R8 1 PTA4543 -2215DP -B202 or  

PTA4543 -2015DP -B202/Bourns  
2K 45mm Slide 

Potentiometer 

R9 1 PTA4543 -2215DP -B202 or  

PTA4543 -2015DP -B202/Bourns  
2K 45mm Slide 

Potentiometer 

PCB 1 532 Control /JJ Electronics   PCB 

SPACER 4 NYLON SPACER   ¼”OD x .115 ID x ¾”long SPACER 

4-40 

SCREW 

4 4-40 SCREW 4-40 x 1-1/4” 4-40 SCREW 

4-40 

NUT 

4 4-40 NUT 
W/WASHER 

4-40 4-40 NUT 
W/WASHER 



Copyright © 2015 JJ Electronics LLC Page 7 
 

 15" 22 ga. HOOK UP WIRE  HOOK UP WIRE 

     

Attention 
This build sheet and bill of materials, including but not limited to all text, photographs and diagrams, is the intellectual property of 
JJ Electronics LLC. Reproduction or re-publication by any means whatsoever, whether electronic, 
mechanical or electro-mechanical, is strictly prohibited under International Copyright laws. 
Commercial use is prohibited. 


